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Onh funGuwympyniGp Jupunp b YhnuGuwiuwG b pniuvwyul wfuwphnd:
OpquGhquGtph YtlGuwgnponiGtnipjul hwiwp pwptluyuwuwm st hGywbtiu ywon,
wjlytu k] pwpdp fjunGuynmpynilp: Uwpnnm wennenmipjul hwdwp wjl niGh dbo
GpwGwlynipynil, pwGh np gpubhy & jufuguwo opnqulhqih giptwihnfuwGwynipnt -
Gp 2p9wuunp htin: gtpdwumhdwlnid dwpnnt wnnn9nipjwl hwiwp Guuwumnw-
Unp £ hwpwptpuyul junGuwynipynibp: Swonp fjunGwynipjub ntwypnid, wpwq gn-
np2hwydwl himbwGpny, pph (npdwpwnuGph, Ynynpnh b pnptiph dwybtiplingplt-
pp snpulmy GG, npp Jupnn £ hwlqby Gt wnnnowlwl yhdwyh Juunwydw:

Onh funGwynipynilp uplnp £ Gub pwwn mbfulngnghwlwG ypnytuGtpnd,
onpluwy” dwljwopwjhl, hpnipwytintiGh ynpuydwl wpmwnpmpjnGitpnid, qpu-
wuwhnyGtipmd b pwlqupuGibpny” ynywbiniy Giph ywhwwGdw b hwdwp:

Onh funGuympymGG hdwlwip Juplnp E ontiptmpwpwlnipyui dke" tinwu-
Gwyh Juwlhwgnipuliwl hwdwp, npl wlGhpwdbym L gnmquumluntumpjud,
npwluwynpnh b mGntumpjul wy puquyunbitph puyuwlintG gnponiGtinipjw
hwiwnp:

Unyniuwy 1
Zwqgbywo gninppnt 660wl Yuwiunwdp ¢ 9bipdwumhdwbhy
t,°C | p 4w | pg/s? t,°C | p 4w | pg/t?

= 0,40 3,2 11 1,33 10,0
0 0,61 4,8 12 1,40 10,7
1 0,65 5,2 13 1,49 11,4
2 0,71 5,6 14 1,60 12,1
3 0,76 6,0 15 1,71 12,8
4 0,81 6,4 16 1,81 13,6
5 0,88 6,8 17 1,93 14,5
6 0,93 7,3 18 2,07 15,4
7 1,0 7,8 19 2,20 16,3
8 1,06 8,3 20 2,33 17,3
9 1,14 8,8 25 3,17 23,0
10 1,23 9,4 50 12,3 83,0




